

TAC 205D Hand Tools & Supplies Finance Department Bid Date: 03/22/2018

Patricia Cummings, CPPB

pcummings@cityoftulsa.org

Please contact if you have any questions

1. Delivery: If your Bid is accepted and a contract is executed, state the number of days you need to deliver the Goods and/or to begin providing Services

You must be able to deliver the Goods and/or Services as specified in your Bid. Failure to do so may result in City terminating your contract or canceling the Purchase Order, pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity.

2. Pricing

(ESTIMATED QUANTITIES FOR EVALUATION PURPOSES ONLY)

			Fastenal Company		Hard Hat Safety and Glove		Budco, Inc.		Transco Supply Company, Inc.		Northern Safety Company Inc.		Core & Main LP	
Item CANS	Description	Estimated Annual Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	SAFETY CAN 2.5 GALLON TYPE II TRANSPORT	18	\$77.32	\$1.391.76	\$65.00	\$1.170.00	\$201.91	\$3,634,38	\$66.91	\$1.204.38	\$70.89	\$1,276,02	\$110.00	\$1 980 00
2	SAFETY CAN 5 GALLON, TYPE II TRANSPORT	14	\$73.23	\$1.025.22	\$70.00	\$980.00	\$71.99	\$1,007.86	\$65.39	\$915.46	\$71.73	\$1,004.22	\$115.00	\$1.610.00
3	CAN SQUIRT CAN W/FLEX SPOUT, 1 PINT	17	\$9.02	\$153.34	N/A	N/A	3,133	72,007.00	\$12.75	\$216.75	\$11.56	\$196.52	\$30.00	\$510.00
4	UTILITY CAN, 5 GALLON	31	\$25.78	\$799.18	N/A	N/A			\$17.50	\$542.50	\$75.52	\$2,341.12	\$95.00	\$2,945.00
5 6	WATER CAN, 3 GALLON WATER CAN, 5 GALLON	52 89	\$35.98 \$27.87	\$1,870.96 \$2,480.43	N/A N/A	N/A N/A			\$29.20 \$29.42	\$1,518.40 \$2,618.38	\$116.96 \$75.52	\$6,081.92 \$6,721.28	\$40.00 \$45.00	\$2,080.00 \$4,005.00
7	POLYETHYLENE SPRAYER 1-1/2GALLON	25	\$21.40	\$535.00	N/A	N/A			\$31.48	\$787.00	\$71.87	\$1,796.75	\$45.00	\$1,125.00
CUTTING		SUBTOTAL:	\$8,2	255.89	\$2,1	50.00	\$4,6	42.24	\$7,8	02.87	\$19,4	417.83	\$14,2	255.00
8	AXE, DOUBLE BIT-W PATTERN 3-1/2 LB.	17	\$31.09	\$528.53	N/A	1		1	\$21.13	\$359.21	\$26.36	\$448.12	\$54.00	\$918.00
9	TUBING CUTTER 5/8" TO 2-1/8" OD	30	\$90.33	\$2,709.90	N/A		\$75.58	\$2,267.40	\$56.12	\$1,683.60	\$66.34	\$1,990.20	\$120.00	\$3,600.00
10	PIPE CUTTER(REED H2-1/2#03110)4 WHEEL 1"TO 2-1/2"	6	\$695.19	\$4,171.14	N/A		\$115.66	\$693.96	\$593.46	\$3,560.76	\$653.50	\$3,921.00	\$415.00	\$2,490.00
11	FILE, FLAT-SMOOTH 8" FILE, FLAT-SMOOTH 10"	8	\$6.95 \$9.16	\$55.60 \$36.64	N/A N/A		\$9.18 \$9.61	\$73.44 \$38.44	\$3.68 \$5.01	\$29.44 \$20.04	\$9.07 \$8.95	\$72.56 \$35.80	\$14.00 \$16.00	\$112.00 \$64.00
13	FILE, FLAT-BASTARD 12"	2	\$9.96	\$19.92	N/A		\$13.20	\$26.40	\$5.33	\$10.66	\$10.66	\$21.32	\$22.00	\$44.00
14 15	FILE, HALF ROUND-BASTARD 12" FILE, HALF ROUND-BASTARD 14"	42 23	\$13.68 \$17.84	\$574.56 \$410.32	N/A N/A	-	\$18.09 \$20.70	\$759.78 \$476.10	\$7.09 \$8.66	\$297.78 \$199.18	\$18.04 \$94.38	\$757.68 \$2,170.74	\$24.00 \$34.00	\$1,008.00 \$782.00
16	KNIFE, UTILITY-RETRACTABLE	65	\$2.04	\$132.60	N/A		\$4.80	\$312.00	\$1.99	\$129.35	\$3.40	\$221.00	\$9.75	\$633.75
17 18	BOW SAW 24" HACK SAW,ADJ FOR 8",10",12"	3 12	\$4.49 \$6.80	\$13.47 \$81.60	N/A N/A	 	\$8.11 \$5.39	\$24.33 \$64.68	\$8.74 \$8.19	\$26.22 \$98.28	\$8.57 \$15.93	\$25.71 \$191.16	\$70.00 \$41.00	\$210.00 \$492.00
18	HACK SAW, ADJ FOR 8", 10", 12" SUBTOTAL:	12		734.28		0.00		36.53		\$98.28 14.52		\$191.16 555.29		\$492.00 353.75
DIGGING						•		•						
19 20	POST HOLE DIGGER CURB AND VALVE BOX CLEANER	5 10	\$32.27 \$359.10	\$161.35 \$3.591.00	N/A N/A	-	\$27.83	\$139.15	\$26.86	\$134.30	\$26.15 No Bid	\$130.75 No Bid	\$88.00 \$388.00	\$440.00 \$3.880.00
21	HOE, MORTAR	9	\$45.89	\$413.01	N/A				\$18.42	\$165.78	\$19.46	\$175.14	\$35.90	\$323.10
22	HOE, SOCKET PATTERN PICK HEAD, RAILROAD 6#, 23"	2 18	\$12.11 \$33.82	\$24.22 \$608.76	N/A N/A	 	\$22.06	\$397.08	\$16.84 \$11.83	\$33.68 \$212.94	\$21.31 \$14.83	\$42.62 \$266.94	\$46.00 \$31.00	\$92.00 \$558.00
24	LEAF RAKE	2	\$14.43	\$28.86	N/A		\$13.10	\$26.20	\$8.67	\$17.34	\$10.99	\$21.98	\$31.00	\$62.00
25	BOW RAKE 14-TOOTH	60	\$11.70	\$702.00	N/A		\$9.15	\$549.00	\$9.42	\$565.20	\$20.10	\$1,206.00	\$44.00	\$2,640.00
26 27	SHOVEL, L.H. FLORAL 6" X 8-1/2" SHOVEL, L.H. ROUND POINT	93 130	\$13.49 \$13.49	\$1,254.57 \$1,753.70	N/A N/A		\$24.49 \$6.55	\$2,277.57 \$851.50	\$13.92 \$6.28	\$1,294.56 \$816.40	\$12.89 \$25.30	\$1,198.77 \$3,289.00	\$58.00 \$27.00	\$5,394.00 \$3,510.00
28	SHOVEL, L.H. SQUARE POINT	52	\$13.93	\$724.36	N/A		\$6.55	\$340.60	\$6.28	\$326.56	\$11.10	\$577.20	\$27.00	\$1,404.00
29	DRAIN SPADE - SHARP SHOOTER SUBTOTAL:	25	\$15.94	\$398.50 660.33	N/A	1.00	\$15.70	\$392.50 73.60	\$15.47 \$3,9	\$386.75	\$24.25 \$7.5	\$606.25 i14.65	\$29.50	\$737.50 040.60
TWISTIN			40,0	300.00	40		\$4,5		\$0,0	00.01	41,0	14.00	\$15 ,	7-10.00
30	PLIERS, CRESCENT MOTOR KIT COMB. (CRESCENT 5X629) PLIERS, N.E. CRESCENT TYPE 8"	22	\$10.55	\$232.10	N/A				\$3.92	\$86.24	\$3.57	\$78.54	\$13.50	\$297.00
31	(CHANNELLOCK 348)	18	\$25.58	\$460.44	N/A				\$18.79	\$338.22	\$21.48	\$386.64	\$18.50 \$25.00	\$333.00
32	PLIERS, GRIPPING (CHANNELLOCK 410) THRU BOLT UTILITY SOCKET SET (REED L515)	28	\$16.37 \$634.65	\$458.36 \$1.903.95	N/A N/A				\$12.25 \$375.98	\$343.00 \$1.127.94	\$13.80 \$513.62	\$386.40 \$1.540.86	\$25.00 \$385.00	\$700.00 \$1.155.00
34	SOCKET HANDLE, ADJ ANGLE QUICK RELEASE	157	\$360.93	\$56.666.01	N/A				\$213.83	\$33.571.31	\$292.09	\$45.858.13	\$225.00	\$35.325.00
35	(REED L564) or acceptable equivalent SCREWDRIVER, STD. TIP 3" X 7/32" (STANLEY	34	\$5.11	\$173.74	N/A		\$4.00	\$136.00	\$3.49	\$118.66	\$3.81	\$129.54	\$6.75	\$229.50
36	66-163) or acceptable equivalent SCREWDRIVER, STD. TIP 4" X 1/4" (STANLEY 66-	10	\$4.60	\$46.00	N/A		\$3.94	\$39.40	\$3.44	\$34.40	\$3.75	\$37.50	\$6.75	\$67.50
37	164) or acceptable equivalent SCREWDRIVER, STD. TIP 6" X 3/16" (STANLEY 66-166) or acceptable equivalent	70	\$5.40	\$378.00	N/A		\$4.66	\$326.20	\$4.06	\$284.20	\$4.44	\$310.80	\$4.50	\$315.00
38	SCREWDRIVER, STD. TIP 8" X 3/8" (STANLEY 66- 168) or acceptable equivalent	58	\$6.96	\$403.68	N/A		\$5.96	\$345.68	\$5.20	\$301.60	\$5.68	\$329.44	\$10.50	\$609.00
39	SCREWDRIVER, STD. TIP 10"X7/16" (STANLEY 66-160) or acceptable equivalent	104	\$10.63	\$1,105.52	N/A	İ	\$8.04	\$836.16	\$7.00	\$728.00	\$7.69	\$799.76	\$22.00	\$2,288.00
40	SOCKET, 1/2" DRIVE DEEP 1/2"X3-1/4" (S-K 40816) or acceptable equivalent	11	\$10.40	\$114.40	N/A	1	\$10.50	\$115.50	\$6.32	\$69.52	\$4.60	\$50.60	\$13.25	\$145.75
41	40816) or acceptable equivalent SOCKET, 1/2" DRIVE DEEP 9/16"X3-1/4" (S-K 40818) or acceptable equivalent	8	\$10.48	\$83.84	N/A	1	\$10.61	\$84.88	\$6.32	\$50.56	\$5.01	\$40.08	\$14.00	\$112.00
42	40818) or acceptable equivalent SOCKET, 1/2" DRIVE DEEP 5/8"X3-1/4" (S-K 40820) or acceptable equivalent	12	\$10.63	\$127.56	N/A	1	\$10.74	\$128.88	\$6.32	\$75.84	\$3.97	\$47.64	\$9.65	\$115.80
43	SOCKET, 1/2" DRIVE DEEP 11/16"X3-1/4" (S-K 40822) or acceptable equivalent	8	\$10.05	\$80.40	N/A		\$10.88	\$87.04	\$6.81	\$54.48	\$4.17	\$33.36	\$10.75	\$86.00
44	SOCKET, 1/2" DRIVE DEEP 3/4"X3-1/4" (S-K 40824) or acceptable equivalent	11	\$10.86	\$119.46	N/A		\$11.10	\$122.10	\$6.89	\$75.79	\$4.31	\$47.41	\$14.50	\$159.50
45	SOCKET, 1/2" DRIVE DEEP 13/16"X3-1/4" (S-K 40826) or acceptable equivalent	6	\$10.72	\$64.32	N/A		\$11.30	\$67.80	\$7.36	\$44.16	\$4.44	\$26.64	\$14.50	\$87.00
46	SOCKET, 1/2" DRIVE DEEP 7/8"X3-1/4" (S-K 40828) or acceptable equivalent	11	\$12.12	\$133.32	N/A		\$12.05	\$132.55	\$7.91	\$87.01	\$4.71	\$51.81	\$16.00	\$176.00
47	SOCKET, 1/2" DRIVE DEEP 15/16"X3-1/4" (S-K 40830) or acceptable equivalent SOCKET, 1/2" DRIVE DEEP 1"X3-1/4" (S-K 40832)	12	\$12.75	\$153.00	N/A		\$12.89	\$154.68	\$8.53	\$102.36	\$4.82	\$57.84	\$26.00	\$312.00
48	or acceptable equivalent SOCKET, 1/2" DRIVE DEEP 1"X3-1/4" (S-K 40832) SOCKET, 1/2" DRIVE DEEP 1-1/16"X3-1/4" (S-K	8	\$13.44	\$107.52	N/A	1	\$13.58	\$108.64	\$8.13	\$65.04	\$5.19	\$41.52	\$26.00	\$208.00
49	40834) or acceptable equivalent SOCKET, 1/2" DRIVE DEEP 1-1/8"X3-1/4" (S-K	34	\$14.82 \$16.00	\$503.88 \$288.00	N/A N/A		\$14.98 \$16.18	\$509.32 \$291.24	\$8.34	\$283.56 \$152.82	\$5.78 \$6.08	\$196.52 \$109.44	\$28.00 \$22.00	\$952.00 \$396.00
50 51	40836) or acceptable equivalent SOCKET, 1/2" DRIVE DEEP 1-1/4"X3-1/4" (S-K	18 28	\$16.00	\$288.00 \$529.48	N/A N/A	1	\$16.18 \$19.48	\$291.24 \$545.44	\$8.49	\$152.82 \$247.24	\$6.08 \$6.24	\$109.44 \$174.72	\$22.00 \$23.00	\$396.00
52	40840) or acceptable equivalent WRENCH, CRESCENT SINGLE END 8"	47	\$18.07	\$849.29	N/A		\$9.76	\$458.72	\$5.35	\$251.45	\$66.83	\$3,141.01	\$22.00	\$1,034.00
53	(CRESCENT 6C176) or acceptable equivalent WRENCH, CRESCENT SINGLE END 10"	21	\$18.73	\$393.33	N/A		\$11.48	\$241.08	\$6.90	\$144.90	\$84.14	\$1.766.94	\$28.50	\$598.50
54	(CRESCENT 6C178) or acceptable equivalent WRENCH, CRESCENT SINGLE END 12* (CRESCENT 6C177) or acceptable equivalent	27	\$27.13	\$732.51	N/A		\$15.71	\$424.17	\$9.78	\$264.06	\$130.13	\$3,513.51	\$39.00	\$1,053.00
	(CRESCENT 6C177) or acceptable equivalent			1	·	1	1	l	<u> </u>			1		

Barrier Section Sect	55	WRENCH, END PATTERN PIPE 10* (RIDGID E-10) or acceptable equivalent	92	\$28.21	\$2,595.32	N/A	ĺ	Ì	ĺ	\$26.83	\$2,468.36	\$28.15	\$2,589.80	\$28.50	\$2,622.00
The content of the	56	WRENCH, END PATTERN PIPE 14" (RIDGID E-14)	13	\$44.84	\$582.92	N/A		\$36.76	\$477.88	\$35.53	\$461.89	\$36.57	\$475.41	\$37.00	\$481.00
1	57	WRENCH, HYDRANT OPERATING (MUELLER A-	77	No Bid	No Bid	N/A						\$36.01	\$2,772.77	\$27.50	\$2,117.50
10 10 10 10 10 10 10 10	_			\$78.21	\$451.36	N/A		\$23.14	\$370.24	\$22.59	\$361.44	\$22.68	\$362.88	\$21.00	\$336.00
20		equivalent WRENCH, PIPE 12" (RIDGID) or acceptable				!									
Company				,					,			, .			,
Column C	-	equivalent WRENCH, PIPE 18" (RIDGID) or acceptable													
Control Cont		equivalent				1		1							
10 10 10 10 10 10 10 10		equivalent													,,,,,,
The content of the		acceptable equivalent		1		1		1		1					
The content of the		acceptable equivalent		ļ		!				.					
Color Colo		equivalent													
Color Colo	66	or acceptable equivalent	2	\$1.16	\$2.32	N/A		\$6.39	\$12.78	\$1.13	\$2.26	No Bid	No Bid	\$4.95	\$9.90
20	67		19	\$19.25	\$365.75	N/A		\$15.49	\$294.31	\$15.06	\$286.14	\$17.47	\$331.93	\$15.75	\$299.25
B	68	COPPER FLARING TOOL 45 DEG. 1" (RIDGID 41335 E52) or acceptable equivalent	12	\$24.33	\$291.96	N/A		\$19.58	\$234.96	\$19.02	\$228.24	\$22.07	\$264.84	\$19.50	\$234.00
19	69	HAMMER, BRASS FACED 3# W/RUBBER GRIP	7	\$54.68	\$382.76	N/A		\$81.25	\$568.75	\$52.15	\$365.05	\$60.51	\$423.57	\$43.00	\$301.00
1	70	HAMMER, ENGR. DOUBLE FACE 3# (WOODINGS	34	\$13.63	\$463.42	N/A		\$38.00	\$1,292.00	\$9.92	\$337.28	\$20.22	\$687.48	\$23.00	\$782.00
1							-								
The content of the		S016) or acceptable equivalent HAMMER, BRICKLAYERS 16 OZ. HEAD					-								
Control Cont		(VAUGHAN 840-BL16) or acceptable equivalent	38			,	 		.,		\$548.72	,			.,
1	73	(VAUGHAN 840-DD16) or acceptable equivalent	5	\$20.48	\$102.40	N/A	<u> </u>	\$15.95	\$79.75	\$6.15	\$30.75	\$27.12	\$135.60	\$23.00	\$115.00
1	74		13	\$38.90	\$505.70	N/A		\$19.53	\$253.89	\$19.73	\$256.49	\$35.55	\$462.15	\$35.00	\$455.00
Part	75		20	\$43.16	\$863.20	N/A		\$24.91	\$498.20	\$22.14	\$442.80	\$41.68	\$833.60	\$43.50	\$870.00
1	76	WOODINGS-VERONA or acceptable equivalent	13	\$113.76	\$1,478.88	N/A		\$35.71	\$464.23	\$32.82	\$426.66	\$62.54	\$813.02	\$65.00	\$845.00
The control of the	77	acceptable equivalent	89	\$21.06	\$1,874.34	N/A				\$7.62	\$678.18	\$45.33	\$4,034.37		\$0.00
1	78	acceptable equivalent	25	\$33.77	\$844.25	N/A				\$5.67	\$141.75	\$10.27	\$256.75	\$34.00	\$850.00
The Control of Con	79	SCRAPER, WIDE BLADE (RED DEVIL 730-4214) or acceptable equivalent	7	\$5.39	\$37.73	N/A				\$4.83	\$33.81	\$5.49	\$38.43	NO BID	NO BID
The control of the	80	06-117) 5LP03 or acceptable equivalent	2	\$10.47	\$20.94	N/A				\$19.06	\$38.12	\$24.71	\$49.42	NO BID	NO BID
10 10 10 10 10 10 10 10	81	09323) or acceptable equivalent	6	\$6.14	\$36.84	N/A			<u> </u>	\$3.42	\$20.52	\$7.21	\$43.26	NO BID	NO BID
March Control Section Co	82	01605) or acceptable equivalent	2	\$30.79	\$61.58	N/A			<u> </u>	\$17.36	\$34.72	\$17.83	\$35.66	NO BID	NO BID
No.	83	acceptable equivalent	11	\$3.75	\$41.25	N/A		\$8.63	\$94.93	\$4.71	\$51.81	\$6.31	\$69.41	NO BID	NO BID
Control Cont	84	equivalent	3	\$6.75	\$20.25	N/A				\$7.45	\$22.35	\$5.56	\$16.68	NO BID	NO BID
Seguestion Seg	85	acceptable equivalent	2	\$12.99	\$25.98	N/A				\$5.06	\$10.12	\$3.60	\$7.20	\$8.95	\$17.90
Processed requirement	86	equivalent	67	\$6.93	\$464.31	N/A		\$11.25	\$753.75	\$7.05	\$472.35	\$7.18	\$481.06	\$16.00	\$1,072.00
March Marc	87	or acceptable equivalent	3	\$41.38	\$124.14	N/A				\$18.49	\$55.47	\$42.25	\$126.75	\$58.00	\$174.00
Machine Mach	88	INCREMENTS) FOR WATER	2	\$2.51	\$5.02	N/A				\$7.31	\$14.62	No Bid	No Bid	\$89.00	\$178.00
PANTING	89	O/F PRESSURE GAUGE (200 PSI W/5 LB. INCREMENTS) FOR WATER	16	\$2.51	\$40.16	N/A			<u> </u>	\$22.92	\$366.72	No Bid	No Bid	\$102.00	\$1,632.00
90 SOUTH PERMISSION 10 10 10 10 10 10 10 1				\$85	875.55	\$0	1.00	\$17,2	.62.32	\$52,1	43.75	\$80,2	83.04	\$67,6	22.60
## October State S					1	1	1			1		ı	ı	ı	1
Second Second Continues Second Continue		acceptable equivalent					 								
OAP PROFINE LITER TO DEVELOP 17		PAINT BRUSH 3" (RUBBERSET 733-3050-3) or				· · · · · · · · · · · · · · · · · · ·	İ	•							
A UTTY AURIE 1.NE (PED DEVIL 70-0410) 11 52.22 52.42 N/A 50.00 55.24 56.14 52.25 52.45 NO BIO NO BIO	93	PAINT BRUSH 4" (UTILITY PB 717-41480) or		1	\$114.33	N/A		\$17.21	\$636.77	1	\$150.22	\$8.32	\$307.84	NO BID	NO BID
95 NOVETRALISPRAZIVED STORM PRODUCTION CONTROL TO ACCORDING PRODUCTION CONTROL PRODUCTION	94	PUTTY KNIFE 1-1/4" (RED DEVIL 730-4102)				1				1	\$63.14			NO BID	NO BID
SPRAYON (0850) or acceptable agreement 69 52.77 5315.53 N/A 53.48 53.09.20 52.48 5312.00 52.93 5922.55 522.95 5329.55		INDUSTRIAL(SPRAYON 03620) or acceptable equivalent				·									
39 3000110 ra acceptable equivalent 315 31.77 31.18.15.5 N/A 31.48 31.09.2.0 32.2.6 37.12.0 32.2.5 32.2.5 32.2.2.2.5 32.2.2.5		(SPRAYON 03630) or acceptable equivalent		<u> </u>				1							
20 Cor of acceptable equivalent 121 133 133 135		03901) or acceptable equivalent SPRAY PAINT, PINK MARKING (KRYLON SO3612)													
SPECIAL NECOSITO 10 Confession of Augustian September Se		SPRAY PAINT, TRAFFIC FED. YELLOW													,
MISCELLANEOUS TOOLSSUPPLIES	99						l 0.00								
VERONNA) or acceptable equivalent Section Start 30' (VERONN) or 13 59.47 512111 N/A S8.33 5105.69 58.52 511.076 514.76 518.88					1	1	1		1	1		1	ı	1	ı
102		VERONA) or acceptable equivalent												\$38.00	\$1,330.00
MATIC 7PC_SET		acceptable equivalent				1	ļ	\$8.13	\$105.69	1					
104 Wise REUNSH MAGNULA \$20-387) or acceptable equivalent 2		MATIC 7 PC. SET		1		1		ļ	 	1					
105 TORO-PHONE, DAN MAC or acceptable equivalent 50 No Bid		or acceptable equivalent		ļ				<u> </u>	 	1					
106 HADD PUMP WITH 6 HOSE (THIRSTY-MATE 211 \$31.95 \$6.741.45 N/A \$48.06 \$10,140.66 \$45.05 \$9,505.55 \$57.00 \$5.697.00	-	equivalent				1	ļ	<u> </u>	 '	1					
107 FileRCALSS SHELT LODGE 18 FOOT 1.0UISVILLE FH10/12) or acceptable equivalent 5 5134.81 5674.05 N/A 5140.50 5702.50 5122.04 5610.20 5134.18 5670.90		equivalent		1		1		<u> </u>	 	1					
(LOUISVILLE FH1008) or acceptable equivalent	106	#136PF-6) or acceptable equivalent		1		1		ļ	 	1				\$27.00	\$5,697.00
100	_						1	C4 40 F0	6703.50	6433.04	\$610.70	\$124.18	\$670.90	1	1
169 PALLOUK (MASTER 540-10) (REVED. 135 58.05 \$1,086.75 N/A \$7.81 \$1,064.35 \$7.91 \$1,067.85 \$9.14 \$1,233.90	107	(LOUISVILLE FH1008) or acceptable equivalent	5	\$134.81	\$674.05	N/A		\$140.50	\$702.50	\$122.04	3010.20	J154.10	3070.30		
	107	(LOUISVILLE FH1008) or acceptable equivalent FIBERGLASS SHELF LADDER 12 FOOT (LOISVILLE FH1012) or acceptable equivalent	9	ļ		N/A									

1	PADLOCK - HERCULOCK 700 (TWO	I	ĺ	I	ſ	I	I	I	İ	Ī		I	I	1 1
110	KEYS)HERCULOCK 700SS 7/8" or acceptable equivalent	519	No Bid	No Bid	N/A				\$6.99	\$3,627.81	\$3.51	\$1,821.69		
111	WHEEL BARROW (JACKSON M-16) or acceptable equivalent	5	\$79.96	\$399.80	N/A		\$95.60	\$478.00	\$90.00	\$450.00	\$98.24	\$491.20		
112	2.5" X 3.5" WHITE MARKING FLAG WITH 21" WIRE STAFF	7000	\$6.55	\$45,850.00	N/A		\$0.08	\$525.00	\$0.08	\$560.00	\$7.61	\$53,270.00	\$0.08	\$560.00
113	FLAGGING TAPE, VINYL FLUOR. ORANGE 1- 3/16" X 150'	10	\$1.37	\$13.70	N/A		\$1.58	\$15.80	\$1.10	\$11.00	\$1.79	\$17.90	\$1.95	\$19.50
114 115	ALKALINE BATTERY 1-1/2 VOLT (C-CELL) ALKALINE BATTERY 1-1/2 VOLT (D-CELL)	396 1437	\$3.18 \$3.45	\$1,259.28 \$4.957.65	N/A N/A				\$0.85 \$0.91	\$336.60 \$1.307.67	\$3.70 \$5.28	\$1,465.20 \$7,587.36		
116	ALKALINE BATTERY 6-VOLT SPRING TOP	158	\$11.94	\$1,886.52	N/A				\$1.98	\$312.84	\$2.04	\$322.32		
117 118	ALKALINE BATTERY 1-1/2 VOLT (AAA) ALKALINE BATTERY 1-1/2 VOLT (AA)	3061 4299	\$2.72 \$5.32	\$8,325.92 \$22,870.68	N/A N/A				\$0.40 \$0.40	\$1,224.40 \$1,719.60	\$2.85 \$2.68	\$8,723.85 \$11 521 32		
119	ALKALINE BATTERY 9 VOLT TRANSISTOR	424	\$3.64	\$1,543.36	N/A				\$1.11	\$470.64	\$8.62	\$3,654.88		
	(#522BP) SUBTOTAL:		\$100	0,208.14	\$0	.00	\$6,3	51.49	\$26,9	09.88	\$104,	653.23	\$7,6	06.50
CUTTING A	ACCESSORIES	•	1	•		1	1					1	1	
120	DIAMOND SAW BLADE 12"X.110"X1" DRY/CURED (FOR TARGET 62/14)	14	\$29.55	\$413.70	N/A						\$80.50	\$1,127.00	\$350.00	\$4,900.00
121	MASONARY SAW BLADE 12"X1/8"X1" (FOR TARGET 62/14)	4	\$91.57	\$366.28	N/A						\$3.04	\$12.16	\$8.00	\$32.00
122	SAW BLADE FOR DUCTILE IRON 12"X1/8"X1" (FOR TARGET 62/14)	11	\$4.29	\$47.19	N/A						\$3.04	\$33.44	\$8.00	\$88.00
123	CARBIDE BLADE FOR WOOD 12" X 24T X 20MM (FOR STIHL SAW)	14	\$53.16	\$744.24	N/A						\$45.33	\$634.62	\$8.00	\$112.00
124	ARBOR SAW BLADE FOR STEEL PIPE 12"X1/8"X20MM	14	\$4.29	\$60.06	N/A						\$3.04	\$42.56	\$8.00	\$112.00
125	ARBOR SAW BLADE FOR DUCTILE/STEEL 14" X 1/8" X 1"	84	\$7.86	\$660.24	N/A						\$4.63	\$388.92	\$8.00	\$672.00
126	HACKSAW BLADE 12" (STANLEY 15-632)	40	\$1.32	\$52.80	N/A				\$0.91	\$36.40	\$1.53	\$61.20	\$12.00	\$480.00
127 128	CUTTER WHEELS (F-158) #20 CUTTER WHEELS (F-3) #1,2,42 AND 202	12	\$7.38 \$13.35	\$14.76 \$160.20	N/A N/A				\$5.32 \$10.09	\$10.64 \$121.08	\$12.76 \$9.58	\$25.52 \$114.96	\$5.50 \$10.75	\$11.00 \$129.00
129	CUTTER WHEELS (F-229) #3, 4 AND 44 CUTTER WHEELS, STEEL (FOR REED H-	4	23.26	\$93.04	N/A				17.01	\$68.04	\$17.42	\$69.68	\$18.00	\$72.00
130	6/STEEL) REED HS6 CUTTER WHEELS (FOR REED H-6,8,12/C.I.)	28	36.9	\$1,033.20	N/A				16.76	\$469.28	\$27.13	\$759.64	\$17.75	\$497.00
131	REED H16 HANDLE, AXE STD BIT 36" (BRUNER IVORY 020-	15	40.5	\$607.50	N/A				16.76	\$251.40	\$27.13	\$406.95	\$17.75	\$266.25
132	365A-FT) or acceptable equivalent	6	No Bid	No Bid	N/A				7.06	\$42.36	\$11.90	\$71.40		
133	HANDLE, PICK 36" (BRUNER IVORY 020-36R-FT) or acceptable equivalent	11	9.68	\$106.48	N/A				13.09	\$143.99	\$10.30	\$113.30		
134	ROPE, MANILA 3/8" (MANILA 518-3/8X600-35B) or acceptable equivalent	100	0.1	\$10.00	N/A				56.94	\$5,694.00	\$47.39	\$4,739.00		
135	CHISELS, COLD 3/4" X 12" (MAYHEW 554-70213) or acceptable equivalent	17	9.32	\$158.44	N/A				8.84	\$150.28	\$11.88	\$201.96		
136	CHISELS, COLD 1/2" X 6" (MAYHEW 554-70205)	4	4.25	\$17.00	N/A				3.53	\$14.12	\$5.05	\$20.20		
137	CHISELS, COLD 3/4" X 7-1/2" (MAYHEW 554- 70212) or acceptable equivalent	4	6.27	\$25.08	N/A				5.2	\$20.80	\$6.56	\$26.24		
	SUBTOTAL:	•	\$4,	570.21	\$0	.00	\$0	1.00	\$7,0	22.39	\$8,8	48.75	\$7,3	71.25
AGGREGA											,			
138	CONCRETE BRICK 2" X 4" X 8" (ON WOOD PALLETS)	440	No Bid	No Bid	N/A						No Bid	No Bid		
139	CONCRETE BLOCK / GRAY 8"X8"X16" (ON WOOD PALLETS)	158	No Bid	No Bid	N/A						No Bid	No Bid		
140	CEMENT, PORTLAND TYPE 1 IN 94 LB.SACKS (WATER)	20	No Bid	No Bid	N/A						No Bid	No Bid		
141	CEMENT, MASONRY TYPE N IN 70 LB. SACKS	20	No Bid	No Bid	N/A						No Bid	No Bid		
142	CEMENT, REDIMIX (DRY IN 80 LB. SACKS) or acceptable equivalent	675	No Bid	No Bid	N/A						No Bid	No Bid		
143	1/2" DEFORMED ROUND REINFORCING STEEL ROD #4	225	No Bid	No Bid	N/A						No Bid	No Bid		
144	5/8" DEFORMED ROUND REINFORCING STEEL ROD #5	200	No Bid	No Bid	N/A						No Bid	No Bid		
145	3/4" DEFORMED ROUND REINFORCING STEEL ROD #6	100	No Bid	No Bid	N/A						No Bid	No Bid		
146	7/8" DEFORMED ROUND REINFORCING STEEL ROD #7	50	No Bid	No Bid	N/A						No Bid	No Bid		
147	SAND BAGS 14" X 26" (0119174 WHITE)	22	No Bid	No Bid	N/A				\$45.89	\$1,009.58	\$37.45	\$823.90		
148	POLYETHYLENE SHEETING (BLACK 6 MILL) 100 FT. PER ROLL	400	No Bid	No Bid	N/A		\$102.16	\$40,864.00	\$36.00	\$14,400.00	\$78.74	\$31,496.00		
149	ORANGE POLYETHYLENE HIGH DENSITY FENCE(4'X50'ROLL)	44	\$33.08	\$1,455.52	N/A				\$21.12	\$929.28	\$42.47	\$1,868.68	\$34.00	\$1,496.00
150	CHAIN LINK FENCING (4 FT. X 50 FT. ROLL) 11- 1/2 GAUGE	150	No Bid	No Bid	N/A						No Bid	No Bid		
	SUBTOTAL:		\$1,	455.52	\$0	.00	\$40,8	364.00	\$16,3	38.86	\$34,1	88.58	\$1,4	96.00
GREASE &	OIL GREASE TUBE 14 OZ (MOBIL #19E5) or					ı	ı	ı				ı	ı	
151	acceptable equivalent GREASE GUN 14 OZ. (PLEWS #30-445) or	525	\$5.77	\$3,029.25	N/A				\$2.80	\$1,470.00	\$10.58	\$5,554.50		
152	acceptable equivalent	46	\$14.74	\$678.04	N/A				\$9.73	\$447.58	\$27.11	\$1,247.06		
153	GREASE GUN HOSE 12* (PLEWS #10-212) or acceptable equivalent	28	\$5.44	\$152.32	N/A				\$4.51	\$126.28	\$7.25	\$203.00		
154	GREASE GUN COUPLER (PLEWS #05-028) or acceptable equivalent	242	\$1.98	\$479.16	N/A				\$2.16	\$522.72	\$5.49	\$1,328.58		
155	WD40 12 OZ. SPRAY #40015 (12/CASE) or acceptable equivalent	646	\$6.84	\$4,418.64	N/A				\$4.78	\$3,087.88	\$5.57	\$3,598.22		
156	HYDRANT LUBRICATING OIL(MUELLER A-51)10.5 OZ. CAN or acceptable equivalent	296	No Bid		N/A						No Bid		\$22.00	\$6,512.00
157	HYDRAULIC SHORING FLUID (CONCENTRATE)	133	No Bid		N/A						No Bid			
158	2-CYCLE OIL MIX (07813198008) 2.6 FL. OZ. CONTAINER	290	\$0.71	\$205.90	N/A						\$1.48	\$429.20		
159	CLEVIS GRAB HOOK 1/4" (CAMPBELL 200-450- 0424) or acceptable equivalent	11	\$1.99	\$21.89	N/A				\$3.31	\$36.41	\$5.61	\$61.71		
160	CLEVIS GRAB HOOK 3/8" (CAMPBELL 200-450- 0604) or acceptable equivalent	163	\$3.08	\$502.04	N/A				\$4.80	\$782.40	\$8.62	\$1,405.06		
161	LEBUS LOAD BINDER 9200# (MIDLAND FORGE 560-D48366) or acceptable equivalent	42	\$29.99	\$1,259.58	N/A				\$56.28	\$2,363.76	\$29.05	\$1,220.10		
162	1/4" TRANSPORT CHAIN GRADE 70 (CAMPBELL	290	\$2.02	\$585.80	N/A				\$2.11	\$611.90	\$2.74	\$794.60		
	#051-0412) or acceptable equivalent 3/8" TRANSPORT CHAIN GRADE 70 (CAMPBELL	-												
163	#051-0612) or acceptable equivalent	880	\$2.52	\$2,217.60	N/A				\$2.44	\$2,147.20	\$4.00	\$3,520.00		
164	HOSE ADAPTER, KAMLOCK 2" (#633-F-0200) or acceptable equivalent	2	\$13.12	\$26.24	N/A						\$26.50	\$53.00	\$12.00	\$24.00
165	HOSE COUPLER, KAMLOCK 2" (#633-C-0150) or acceptable equivalent	61	\$5.24	\$319.64	N/A						\$88.61	\$5,405.21	\$14.00	\$854.00
166	HOSE FITTING 2.5" NST MALE X 2" NPT MALE (DMH2025F) or acceptable equivalent	27	\$29.48	\$795.96	N/A				\$21.58	\$582.66	\$32.53	\$878.31	\$38.00	\$1,026.00
167	HOSE FITTING 2.5" NST FEMALE X 3" NPT MALE (SM25F30T) or acceptable equivalent	7	\$104.49	\$731.43	N/A				\$76.53	\$535.71	\$115.42	\$807.94	\$85.00	\$595.00
168	PUMP HOSE (2" X 20 FT. LENGTH) 150 PSI or acceptable equivalent	47	\$121.28	\$5,700.16	N/A						\$50.59	\$2,377.73		
	www.piable equivalent				•				•					

1	PLEXIGLASS RING, RED 1/4"X12" DIA. W/5-1/4"	59	1		N/A	ı	ı	ı	1			I	ı	l
169	HOLE HYDRANT PAINT SAFETY YELLOW(SHER.		No Bid \$48.77	\$1.560.64	N/A N/A						No Bid \$62.09	\$1.986.88		
170	WILLIAMS B54Y37) or acceptable equivalent	32	7.0			1		1						
JANITORIA	SUBTOTAL:		\$22,	684.29	\$0	0.00	\$0	0.00	\$12,7	14.50	\$30,8	71.10	\$9,0	11.00
171	SPRAY BOTTLE 22 OZ. (EVE 631-0024-35) or	71	\$0.44	\$31.24	N/A				\$0.43	\$30.53	\$0.87	\$61.77	NO BID	NO BID
172	acceptable equivalent SPRAY TRIGGER 9" (EVE 215-0044-35) or	71	\$0.88	\$62.48	N/A				\$1.23	\$87.33	\$1.58	\$112.18		
173	acceptable equivalent JOHNSON SOFT CARE LOTIONIZED HAND SOAP	352	\$2.84	\$999.68	N/A				\$3.11	\$1,094.72	\$6.82	\$2,400.64		
173	or acceptable equivalent POWDERED HAND SOAP (U.S. BORAX #2203 IN	10	\$8.52											
-	5 LB BOX) or acceptable equivalent JOE'S WATERLESS HAND SOAP (1# CANS - 24			\$85.20	N/A				\$6.85	\$68.50	\$10.16	\$101.60		
175	PER CASE) or acceptable equivalent	150	\$4.50	\$675.00	N/A				\$2.93	\$439.50	\$76.71	\$11,506.50		
176	GLASS CLEANER 1 GAL. (EVE DIAMOND 3-1-17) or acceptable equivalent	59	\$7.67	\$452.53	N/A				\$10.51	\$620.09	\$10.20	\$601.80		
177 178	BLEACH, CHLORINE 5% OIL BASE OKLAHOMA FLOOR SWEEP (50# BOX)	246	\$2.37 \$3.78	\$583.02 \$18.90	N/A N/A				\$2.13 \$16.82	\$523.98 \$84.10	\$17.37 \$21.65	\$4,273.02 \$108.25		
-	or acceptable equivalent GARAGE BROOM 24" #3227 HEAD WITH 1" X 60"			*****	,				,	******		******		
179	#191 HANDLE WAREHOUSE STRAW BROOM (UNITED #1-36) or	12	\$9.02	\$108.24	N/A				\$18.98	\$227.76	\$26.21	\$314.52		
180	acceptable equivalent MOP HANDLE (QUICK MASTER #26-5) or	5	\$24.01	\$120.05	N/A				\$7.45	\$37.25	\$6.50	\$32.50		
181	acceptable equivalent	4	\$8.11	\$32.44	N/A				\$7.22	\$28.88	\$13.37	\$53.48		
182	MOP HEAD (32 OZ. QUICK CHANGE) or acceptable equivalent	3	\$6.44	\$19.32	N/A				\$9.20	\$27.60	\$11.24	\$33.72		
L	SUBTOTAL:		\$3,1	88.10	\$0	0.00	\$0	0.00	\$3,27	0.24	\$19,5	99.98	\$0	.00
SAFETY S	JPPLIES FIRST AID CASE (COTFK) COMPLETE KIT	82	\$133.28	\$10,978,96	\$14.95	\$1,225,90	\$18.10	\$1.484.20	\$9.73	\$797.86	\$123.40	\$10.118.80	\$36.00	\$2,952.00
184	INSECT REPELLANT SPRAY (B/N 61604)	282	\$7.17	\$2,021.94	\$7.35	\$2,072.70	\$7.80	\$2,199.60	\$4.12	\$1,161.84	\$6.03	\$1,700.46	930.00	\$0.00
185	BEE AND WASP KILLER 14 OZ.CAN 61011-BEE BOPPER II or acceptable equivalent	229	\$7.09	\$1,623.61	\$6.15	\$1,408.35	\$6.53	\$1,495.37	\$3.69	\$845.01	\$5.14	\$1,177.06		\$0.00
186	SAFETY GLASSES(4800B-CMR)VENTURE II BLACK I/O LENS or acceptable equivalent	562	\$2.68	\$1,506.16	\$2.75	\$1,545.50	\$3.33	\$1,871.46	\$2.31	\$1,298.22	\$3.01	\$1,691.62	\$8.50	\$4,777.00
187	SAFETY GOGGLES (ALL SAFE - G211- 13SG/10115) or acceptable equivalent	48	\$5.19	\$249.12	\$1.75	\$84.00	\$2.16	\$103.68	\$6.87	\$329.76	\$1.39	\$66.72	\$4.50	\$216.00
188	REUSABLE EAR PLUGS (MODEL #QD-30 RC) or acceptable equivalent	589	\$0.87	\$512.43	\$0.75	\$441.75	\$0.96	\$565.44	\$44.38	\$26,139.82	\$52.18	\$30,734.02		\$0.00
189	EAR PROTECTOR, EAR MUFF (330-3001 EAR #1000)	58	\$15.92	\$923.36	\$12.50	\$725.00	\$12.34	\$715.72	\$12.00	\$696.00	\$7.50	\$435.00	\$48.00	\$2,784.00
190	ABC FIRE EXTINGUISHER 2-1/2 LB. MODEL 250	46	\$37.67	\$1,732.82	\$31.50	\$1,449.00	\$35.19	\$1,618.74	\$36.36	\$1,672.56	\$37.51	\$1,725.46	\$65.00	\$2,990.00
191	MB or acceptable equivalent RESPIRATOR (RS P-RS-6000) SIZE: SMALL	7	\$13.16	\$92.12	\$10.50	\$73.50			\$9.50	\$66.50	\$12.51	\$87.57	\$26.00	\$182.00
192	RESPIRATOR (RS P-RS-6000) SIZE: MEDIUM WHEEL CHOCK 10"X6"X8" T+S #RWC-8	19	\$12.48	\$237.12	\$10.50	\$199.50	\$10.31	\$195.89	\$9.50	\$180.50	\$11.34	\$215.46	\$32.00	\$608.00
193	(GRAINGER #2A092) or acceptable equivalent STEEL TOED HIP BOOT - SIZE: 7 (RAINFAIR 2400-	16	\$21.33	\$341.28	\$18.00	\$288.00	\$21.45	\$343.20	\$13.99	\$223.84	\$11.53	\$184.48	\$40.00	\$640.00
194	9091) or acceptable equivalent	6	\$82.69	\$496.14	\$45.00	\$270.00			\$45.36	\$272.16	\$69.61	\$417.66	\$80.00	\$480.00
195	STEEL TOED HIP BOOT - SIZE: 8 (RAINFAIR 2400- 9091) or acceptable equivalent	10	\$82.69	\$826.90	\$45.00	\$450.00			\$45.36	\$453.60	\$69.61	\$696.10	\$80.00	\$800.00
196	STEEL TOED HIP BOOT - SIZE: 9 (RAINFAIR 2400- 9091) or acceptable equivalent	44	\$81.11	\$3,568.84	\$45.00	\$1,980.00			\$45.36	\$1,995.84	\$69.61	\$3,062.84	\$80.00	\$3,520.00
197	STEEL TOED HIP BOOT - SIZE: 10 (RAINFAIR 2400-9091) or acceptable equivalent	71	\$81.11	\$5,758.81	\$45.00	\$3,195.00			\$45.36	\$3,220.56	\$69.61	\$4,942.31	\$80.00	\$5,680.00
198	STEEL TOED HIP BOOT - SIZE: 11(RAINFAIR 2400-9091) or acceptable equivalent	90	\$81.11	\$7,299.90	\$45.00	\$4,050.00			\$45.36	\$4,082.40	\$69.61	\$6,264.90	\$80.00	\$7,200.00
199	STEEL TOED HIP BOOT - SIZE: 12 (RAINFAIR 2400-9091) or acceptable equivalent	62	\$81.11	\$5,028.82	\$45.00	\$2,790.00			\$45.36	\$2,812.32	\$69.61	\$4,315.82	\$80.00	\$4,960.00
200	STEEL TOED HIP BOOT - SIZE: 13 (RAINFAIR	34	\$81.11	\$2,757.74	\$45.00	\$1,530.00			\$45.36	\$1,542.24	\$69.61	\$2,366.74	\$80.00	\$2,720.00
201	STEEL TOED HIP BOOT - SIZE: 14 (RAINFAIR 2400-9091) or acceptable equivalent	16	\$82.69	\$1,323.04	\$66.00	\$1,056.00				\$0.00	\$69.61	\$1,113.76	\$80.00	\$1,280.00
202	STEEL TOED KNEE BOOT - SIZE: 6 (ONGUARD	2	\$14.62	\$29.24	\$14.00	\$28.00			\$17.65	\$35.30	\$26.26	\$52.52	\$50.00	\$100.00
203	#89682) or acceptable equivalent STEEL TOED KNEE BOOT - SIZE: 8 (ONGUARD	3	\$14.34	\$43.02	\$14.00	\$42.00	\$16.29	\$48.87	\$17.65	\$52.95	\$26.26	\$78.78	\$50.00	\$150.00
203	#89682) or acceptable equivalent STEEL TOED KNEE BOOT - SIZE: 9 (ONGUARD					!	!	!						
	#89682) or acceptable equivalent STEEL TOED KNEE BOOT - SIZE: 10 (ONGUARD	27	\$14.34	\$387.18 \$860.40	\$14.00	\$378.00	\$16.29	\$439.83	\$17.65	\$476.55	\$26.26	\$709.02	\$50.00 \$50.00	\$1,350.00
205	#89682) or acceptable equivalent STEEL TOED KNEE BOOT - SIZE: 11 (ONGUARD	60	\$14.34	• • • • • • • • • • • • • • • • • • • •	\$14.00	\$840.00	\$16.29	\$977.40	\$17.65	\$1,059.00	\$26.26	\$1,575.60		\$3,000.00
206	#89682) or acceptable equivalent STEEL TOED KNEE BOOT - SIZE: 12 (ONGUARD	51	\$14.34	\$731.34	\$14.00	\$714.00	\$16.29	\$830.79	\$17.65	\$900.15	\$26.26	\$1,339.26	\$50.00	\$2,550.00
207	#89682) or acceptable equivalent STEEL TOED KNEE BOOT - SIZE: 13 (ONGUARD	45	\$14.34	\$645.30	\$14.00	\$630.00	\$16.29	\$733.05	\$17.65	\$794.25	\$26.26	\$1,181.70	\$50.00	\$2,250.00
208	#89682) or acceptable equivalent	20	\$14.34	\$286.80	\$14.00	\$280.00	\$16.29	\$325.80	\$17.65	\$353.00	\$26.26	\$525.20	\$50.00	\$1,000.00
209	STEEL TOED KNEE BOOT - SIZE: 14 (ONGUARD #89682) or acceptable equivalent	13	\$14.62	\$190.06	\$11.00	\$143.00	\$16.29	\$211.77	\$17.65	\$229.45	\$26.26	\$341.38	\$50.00	\$650.00
210	WORK GLOVES (PIP #7563 YB) SIZE: SMALL WORK GLOVES (PIP #7563 YB) SIZE: MEDIUM	29 39	\$2.67 \$2.67	\$77.43 \$104.13	\$2.05 \$2.05	\$59.45 \$79.95	\$32.58 \$32.58	\$944.82 \$1.270.62	\$1.79 \$1.79	\$51.91 \$69.81	\$3.32 \$3.32	\$96.28 \$129.48		\$0.00 \$0.00
212	WORK GLOVES (PIP #7563 YB) SIZE: MEDIUM WORK GLOVES (PIP #7563 YB) SIZE: LARGE	56	\$2.67	\$149.52	\$2.05	\$114.80	\$32.58	\$1,824.48	\$1.79	\$100.24	\$3.32	\$185.92		\$0.00
212	WORK GLOVES (PIP #7563 YB) SIZE: LARGE WORK GLOVES (PIP #7563 YB) SIZE: X-LARGE	126	\$2.67 No Bid	\$149.52 No Bid	\$2.05	\$114.80 \$283.50	\$32.58 \$34.90	\$1,824.48 \$4,397.40	\$1.79	\$100.24 \$225.54	\$3.32 \$3.32	\$185.92		\$0.00
	WORK GLOVES (PIP #7563 YB) SIZE: X-LARGE NITRILE COATED WORK GLOVES (EDMONT 27-													
214 215	607) or acceptable equivalent DRIVERS GLOVES, COWHIDE (PIP #158L)	295 481	\$1.81 \$5.98	\$533.95 \$2,876.38	\$2.60 \$4.75	\$767.00 \$2,284.75	\$23.26 \$60.49	\$6,861.70 \$29,095.69	\$0.93 \$3.88	\$274.35 \$1,866.28	\$3.58 \$6.00	\$1,056.10 \$2,886.00		\$0.00 \$0.00
216	NEOX-COATED REINFORCED NEOPRENE	314	\$14.42	\$4,527.88	\$8.65	\$2,716.10	\$1.61	\$505.54	\$1.16	\$364.24	\$43.31	\$13,599.34		\$0.00
-	GLOVES/EDMONT 909T or acceptable equivalent SUBTOTAL:	l	***	671.74	601	194.75	250	061.06	\$54.6		\$95.4	01.69	250	339.00
<u> </u>	SUBTOTAL		,		,		,		,		,			
TOTAL COO	T NOT TO EXCEED:	1	\$312,	560.04	\$36,3	344.75	\$147,	018.78	\$197,3	07.65	\$418,	111.72	\$196,	439.70
	T NOT TO EXCEED: ust be included or your Bid will be disqualified)													